C:# Reihenfolge der Operationen Name:

L 6se jede Aufgabe. Antworten

1) (10+3)+68 2) (4+5)+8:2+5 X
2.
3.
4.

3 10+25:5(7+3) 4 (8+3)+2+8-6 i
6.
7.
8.

5 3(3+25:5)+24:8 6) 6(35:7+81:9).2 .
10.

7) 5e4(7-6+10-3) 8) (5+12-6)+9-2+10

9 5(40:10+10-8)+9 10) (9+5-4)+17-8+8
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Reihenfolge der Operationen Name: L Osungsschliussel
L 6se jede Aufgabe. Antworten
1) (10+3)+68 2) (4+5)+8:2+5 X 61
(13)+6+8 (20)+8:2+5 |
13+48 20+4+5 5 29
61 24+5
29 3. 60
a, 15
3 10+25:5(7+3) 4 (8+3)+2+8-6 i o7
10+25:5+(10) (11)+2+8-6 '
10+510 13+8-6 6. 168
10+50 21-6
60 15 7 160
8 0
5 3(3+25:5)+24:8 6) 6(35:7+81:9).2 . 270
3.(3+5)+24:8 6+(5+81:9)¢2 '
3+(8)+24:8 6e(5+9)2 10. -37
24+24:8 6e(14)e2
24+3 842
27 168

/) 5¢4(7-6+10-3)
5¢4¢(1+10-3)
5¢4¢(11-3)
5¢4+(8)
208
160

9 5(40:10+10-8)+9

5+(4+10-8)9
5¢(14-8)+9
5¢(6)°9
309
270

100 (9+5-4)+17-8+8

8) (5+12-6)+9-2+10
(17-6)+9-210
(11)+9-2¢10
11+9-20
20-20
0

(14-4)+17-8+8
(10)+17-8+8
10+17-64
27-64
-37
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C:# Reihenfolge der Operationen Name:

L 6se jede Aufgabe. Antworten
60 29 0 168
160 61 27 15 1
1) (10+3)+6+8 2) (45)+8:2+5 2
3.
4,
5.
6.
3 10+25:5(7+3) 4 (8+3)+2+8-6
7.
8.
5 3(3+25:5)+24:8 6) 6(35:7+81:9)+2
7) 5e4(7-6+10-3) 8) (5+12-6)+9-2+10
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